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LOGIC MODEL 
 
PROGRAMME:  _______________________________________________ 
 
SUB-PROGRAMME: ___________________________________________ 
 
 

Long Term Outcome(s):  

(Impact)       VISION 2030 

 

Intermediate Outcome(s): 

(changes in 2-5 years) 

 

Immediate Outcome(s): 

(changes in 1 – 2 years) 

 

 

 

Output(s): 

 

 

 

 

 

Activities: 

 

 

 

 

 

Inputs: 

 

 

Change in situation: environment, social conditions, economic 

conditions, political conditions 

 
Change in: knowledge, skills, attitude, motivation, awareness 
 
 
 

What are the products and services produced from the 
completion of the activities? 
 

 Workshops conducted 
 Staff trained 
 Equipment procured/serviced 
 Programme developed 
 Serviced improved 

 
 
 

What do we do to achieve output?  
 

 Conduct/Coordinate 
 Facilitate 
 Procure 
 Train 

 

What do we invest? 
 Time 

 Money 
 People 
 Facilities 
 Equipment 

Change in: behavior, practices, policies, procedures 
 


